
1. Seite

1

7

4

5

362001-045
M6x20 Df csavar

3490-002A

1982-019

2002-007

M8x25 Hlf csavar

M8 Hl anya

8200-039

8400-225

Belső használatra !

III.

Product.: Lang

2001-065

6152-1376A

38 6152-1378

348700-120

2001-045

2001-464
M5x20 Hf bk csavar

376152-1377

III.

M5x6 Hernyócsavar
2001-015

M5x10 Sf csavar
2001-019

6 5025-003A

2

3

I.

II.

M5x6 Hernyócsavar
2001-015

5135-242

5135-243A

I.

II.

K3030 Paso

IV.

85600-141

M6x20 Df csavar



14

15

16

19

17

18

2. Seite
Belső használatra !

16

16

15

6611-187

6611-004A

5540-199

1982-001

1982-001

1982-011

1982-001

5311-413

2003-020

2001-042

M6 Íves rugós alátét

M6x16 Df csavar

Product.: Lang

2001-015
M5x6 Bkny

 hernyócsavar

16 1982-001

K3030 Paso

12

13

5311-412A

5335-370

7935-709
M5 Laposfejű csavar

1982-011

2003-022

2001-358
M5x8 Df csavar

M5 Fakötésesalátét

115633-029B

9 5611-1295611-049 10

M8 Rugós alátét
2003-020

M8 Hl Anya
2002-007 2001-106

M5x16 Hlf csavar



3. Seite
Belső használatra !

Product.: Lang

266081-476C
256081-474C

305490-020A

29 6081-587

27 6081-477E

4.
3.

9.

7.

1.

Feuerraumauskleidung
(9900-714)

6081-473D       1 Stück
6081-474C       1 Stück
6081-476C       2 Stück
6081-477E       1 Stück
6081-478E       1 Stück
6081-587         1 Stück

1. 9.
Reihenfolge:

23 3711-129B

8.

Lage des Feuerablenkvermiculit

K3030 Paso

26

6.
286081-478E

5.
246081-473D

2.

6081-476C



4. Seite
Belső használatra !

Product.: Lang

31

32

33

2002-007

2001-062

1982-019

4111-001

4111-002

M8 Hl anya

M8x16 Hlf csavar

5 1982-019

2001-065
M8x25 Hlf csavar

4 3490-002A

2002-007
M8 Hl anya

356152-944
K3030 Paso

205636-015
IV.

21 4412-830A

M5x8 Df csavar
2001-358

22 5135-241


